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1) From which 05 does the &7nx ask the question?

2) On which opinion is the X723 asking?
3) What is the question?

4) Explain the answer of the & n?

5) What is the mynwn of the oo (that the X n3 questions)?

6) Explain on which word of the p1o5 this my»wn is based?

7) What is the question based on this mynwn?

8) The x7ma concludes that =mx *2>1> in fact means (like we just

answered). In response to the question, the xanx answers that the my»wn was incorrect. What

IS incorrect about the mynwn (°"w9)?

9) What is the m0» in fact coming to teach us by adding the word mx?

10) What is the 13 X1 in 11277 that the p1oo teaches us?

11) What is the exception to this 17 ('o1n)?

12) What is the >"m pw? for this?
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